	REP RESULTS	FALTIL CEDVICEC				
	CC2013-05 OCCUPATIONAL H OCTOBER 1, 201					
CONTRACT AWARD: PERIOD OF TWO (2) YEARS WITH THE OPTION TO EXTEND ONE (1) YEAR; AWARD BASED ON ESTABLISHED CRITERIA						
NUMBER OF RESPONDENTS	3					
NAME OF BIDDER	DOCTORS EXPRESS	PRINCETON HEALTHCARE SYSTEM	ROBERT WOOD JOHNSON UNIVERSITY HOSPITAL AT HAMILTON, INC.			
ADDRESS	2222 ROUTE 33, SUITE H	1 PLAINSBORO ROAD	ONE HAMILTON HEALTH PLACE			
CITY, STATE, ZIP	HAMILTON, NJ 08690	PLAINSBORO, NJ 08536	HAMILTON, NJ 08690			
CONTACT	LAURA A. FABBRO	BARRY S. RABNER	ANTHONY J. CIMINO			
TELEPHONE	609 890 4100	609 853 7477	609 584 6404			
FAX	609 890 4189	609 853 7471	609 890 7683			
WEBSITE OR E-MAIL	LFABBRO@DOCTORSEXPRESS.COM	KGOEHRIG@PRINCETONHCS.ORG	SCIMINO@RWJUHH.EDU			
RECEIPT OF ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED			
INSURANCE REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IS AWARDED	REQUIRED IF AWARDED			
BUSINESS REGISTRATION	ОК	ОК	ОК			
EIC	REQUIRED IF AWARDED	11774 EXPIRES 9/15/13 (AWAITING RENEWAL)	18621 EXPIRED 3/15/13; REQUEST NEW CERT			
EXHIBIT A	INCLUDED	INCLUDED	INSERT REVISED			
STOCKHOLDER DISCLOSURE	OK	ОК	ОК			
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES			
CONTINUITY OF OPERATION	YES, PAGE 27	YES, PAGE 27	SEE EMERGENCY PLAN PAGE 27			
QUALIFICATION STATEMENT	INCLUDED	INCLUDED	INCLUDED			
KEY PHYSICAN	JHIBU THOMAS, MD	SIDDIQ A. FAISAL, MD	F. JAVIER VILLOTA, MD			
LOCATION OF FACILITY	2222 ROUTE 33, SUITE H, HAMILTON NJ 08690	OCCUPATIONAL HEALTH: 5 PLAINSBORO ROAD, SUITE 570, PLAINSBORO, N.J. OCCUPATIONAL HEALTH: 2 CENTRE DRIVE, SUITE 400, MONROE TWP.; REDNOR RISI FAMILY MEDICINE ASSOCIATES - 1 WASHINGTON BLVD, ROBBINSVILLE, N.J	2 HAMILTON HEALTH PLACE, HAMILTON, NJ 08690			
MEDICAL LICENSURE	INCLUDED	INCLUDED	INCLUDED			
OCCUPATIONAL HEALTH BOARD CERTIFIED (PROVIDED IF ONLY BOARD CERTFIED, NOT REQUIRED)	NO	NO	NO			
DEPARTMENT OF HEALTH AND SENIOR SERVICES: CERTIFICATE OF NEED AND ACUTE CARE (FOR HOSPITALS)	NOT LICENSED FOR ACUTE CARE AS THIS IS A MEDICAL PRACTICE, NOT A HOSPITAL	FACILITY # 11103 EXPIRES 8/31/14	FACILITY # 11101 EXPIRES 5/31/14			
CLIA CERTIFICATION	31D2011830 EXPIRES 8/30/15	31D0664421 EXPIRES 2/27/15	31D0122561 EXPIRES 11/30/13			
REFERENCES AND 3 YEARS EXPERIENCE, PERSONNEL TO CHECK	INCLUDED	INCLUDED	INCLUDED			
COST PROPOSAL (ATTACHED)						
GRAND TOTAL TWO YEARS	\$ 370,367.00	\$ 516,618.00	\$ 520,330.91			
OPTION YEAR THREE	\$ 199,815.53	\$ 277,019.00	\$ 266,484.34			
exceptions	NONE, MATHEMATICAL ERROR IN GRAND TOTAL AND OPTION YEAR THREE TOTAL; MUTIPLE NO BID LINE ITEMS	NONE; ERROR LINE 46, S/B 28 IMMUNIZATIONS	NONE; LINE ITEM UNIT COST GOVERNS, ERRORS IN TOTALS DUE TO DECIMALS; NO BID ON PSYCH SCREENINGS AND EVALUATIONS			
FATAL FLAW	NO	NO	NO			

			DO	OOCTORS EXPRESS				PRINCETON HEALTHCARE SYSTEM PROPOSAL ROBERT WOOD JOHNSON PROPOSAL												
PROCEDURES	YEAR ONE AND TWO ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	тот	AL E	YEAR THREE ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	YEAR AND ESTIM TES HO	TWO COST		TOTAL		COST PER TEST/HOUR			OST PER ST/HOUR	TOTAL ES	YEAR THREE STIMATED TESTS/ HOURS TEST/I		TOTAL	DEFINITION
5PANEL - 5 Panel Non-DOT Drug Screen	18	\$ 35	.00 \$	630.00	9	\$ 37.62 \$	338.58	18 \$	40.00 \$	720.00	9 \$	42.00 \$	378.00	18 \$	42.78 \$	770.04	9 S	43.20 \$	388.80	5 panel non federal drug screen
5PANEL - MC CHOOSE 10PANEL - 5 Panel Non-DOT DS	20	\$ 35	.00 \$	700.00	10	\$ 37.62 \$	376.20	20 \$	40.00 \$	800.00	10 \$	42.00 \$	420.00	20 \$	42.78 \$	855.60	10 \$	43.20 \$	432.00	5 panel non federal drug screen
DOT Drug Screen totals	1	\$ 35	.00 \$	35.00	1	\$ 37.62 \$	37.62	1 \$	40.00 \$	40.00	1 \$	42.00 \$	42.00	1 \$	42.78 \$	42.78	1 \$	43.20 \$	43.20	Federal drug screen
LAB/EKG - MCCOTA PP exam with labs & EKG for Corrections	2	\$ 85	.00 \$	170.00	1	\$ 91.37 \$	91.37	2 \$	399.00 \$	798.00	1 \$	423.00 \$	423.00	2 \$	89.24 \$	178.48	1 \$	90.13 \$	90.13	Academy Clearance physical lab work and ekg
5 LAB/STR - MCCOTA PP exam, labs/stress for Sheriff	19	\$ 325	.00 \$ 6	5,175.00	10	\$ 349.37 \$	3,493.70	19 \$	399.00 \$	7,581.00	10 \$	423.00 \$	4,230.00	19 \$	317.34 \$	6,029.46	10 \$	320.51 \$	3,205.10	Academy clearance for Sheriff stress test and labs
PFT - Pulmonary Function Test	1	\$ 25	.00 \$	25.00	1	\$ 26.87 \$	26.87	1 \$	60.00 \$	60.00	1 \$	60.00 \$	60.00	1 \$	63.05 \$	63.05	1 \$	63.68 \$	63.68	Pulm. Function test part of respiratory exam
WC02 - MC WC Follow up Visit Paperless	649	\$ 110	.00 \$ 7	1,390.00	325	\$ 118.25 \$	88,431.25	649 \$	150.00 \$	97,350.00	325 \$	150.00 \$	48,750.00	649 \$	138.71 \$	90,022.79	325 \$	140.10 \$	45,532.50	Worker comp. follow up exam
WC02 - MCCOTA WC Follow up Visit Paperless	1	\$ 120	.00 \$	120.00	1	\$ 129.00 \$	129.00	1 \$	150.00 \$	150.00	1 \$	150.00 \$	150.00	1 \$	138.71 \$	138.71	1 \$	140.10 \$	140.10	Worker comp follow up exam for MCCOTA
WCF - MC WC Follow up Regular	7	\$ 110	.00 \$	770.00	4	\$ 118.25 \$	473.00	7 \$	150.00 \$	1,050.00	4 S	150.00 \$	600.00	7 \$	138.71 \$	970.97	4 S	140.10 \$	560.40	Worker comp follow up exam
0 WCO1 - WC Initial Visit Paperless	1	\$ 120	.00 \$	120.00	1	\$ 129.00 \$	129.00	1 \$	185.00 \$	185.00	1 \$	185.00 \$	185.00	1 \$	226.20 \$	226.20	1 \$	228.47 \$	228.47	Worker comp initial exam
1 WCO1 - MC WC Initial Visit Paperless	449	\$ 120	.00 \$ 53	3,880.00	225	\$ 129.00 \$	9,025.00	449 \$	185.00 \$	83,065.00	225 \$	185.00 \$	41,625.00	449 S	226.30 \$	101,608.70	225 \$	228.56 \$	51,426.00	Worker comp initial exam
2 10PAN - MC 10 panel send out(use for all MC DS)	152	\$ 35	.00 \$ 5	5,320.00	76	\$ 37.62 \$	2,859.12	152 \$	40.00 \$	6,080.00	76 \$	42.00 \$	3,192.00	152 \$	42.78 \$	6,502.56	76 \$	43.20 \$	3,283.20	10 panel send out drug screen used for all correction randoms
3 10PANEL - MC 10 Panel Instant DS	20	\$ 35	.00 \$	700.00	10	\$ 37.62 \$	376.20	20 \$	35.00 \$	700.00	10 \$	35.00 \$	350.00	20 \$	42.78 \$	855.60	10 \$	43.20 \$	432.00	10 pan. instant drug screen used for all pre employment & RTW
4 12 PANEL - MC 12 panel send out(use for all MC DS)	152	\$ 35	.00 \$ 5	5,320.00	76	\$ 37.62 \$	2,859.12	152 \$	40.00 \$	6,080.00	76 \$	42.00 \$	3,192.00	152 \$	42.78 \$	6,502.56	76 \$	43.20 \$	3,283.20	12 panel send out drug screen used for all correction randoms
5 12 PANEL - MC 12 Panel Instant DS	20	\$ 35	.00 \$	700.00	10	\$ 37.62 \$	376.20	20 \$	35.00 \$	700.00	10 \$	35.00 \$	350.00	20 \$	42.78 \$	855.60	10 \$	43.20 \$	432.00	12 panel instant drug screen used for all pre employment & RTW
6 AFTERHRS - MC DS & BAT afterhours	3	\$ 65	.00 \$	195.00	2	\$ 69.87 \$	139.74	3 \$	75.00 \$	225.00	2 \$	77.00 \$	154.00	3 \$	218.25 \$	654.75	2 \$	220.43 \$	440.86	Afterhours drug screen and BAT-post accident or for suspicion
7 BAT - MC BAT NON-DOT	16	\$ 30	.00 \$	480.00	8	\$ 32.25 \$	258.00	16 \$	35.00 \$	560.00	8 \$	35.00 \$	280.00	16 \$	37.43 \$	598.88	8 \$	37.81 \$	302.48	Breath alcohol test - non federal
8 DOTPE - MC DOT Physical Exam	3	\$ 60	.00 \$	180.00	2	\$ 64.50 \$	129.00	3 \$	64.00 \$	192.00	2 \$	68.00 \$	136.00	3 \$	69.51 \$	208.53	2 \$	70.21 \$	140.42	DOT physical exam
9 DSBAT - MC DOT Drug Screen (5 Panel) with DOT BAT	180	\$ 65	.00 \$ 11	1,700.00	90	\$ 69.87 \$	6,288.30	180 \$	75.00 \$	13,500.00	90 \$	77.00 \$	6,930.00	180 \$	42.78 \$	7,700.40	90 \$	43.20 \$	3,888.00	Drug screen and Breath alcohol for DOT exam
DSOPIATE - MC Drug Screen-Extended Opiate Panel	25	\$ 75	.00 \$	1,875.00	13	\$ 80.62 \$	1,048.06	25 \$	110.00 \$	2,750.00	13 \$	110.00 \$	1,430.00	25 \$	42.78 \$	1,069.50	13 \$	43.20 \$	561.60	Extended Opiate panel drug screen used for RTW
1 FCE - MC Functional Capacity Exam	2	\$ 800	.00 \$	1,600.00	1	\$ 860.00 \$	860.00	2 \$	780.00 \$	1,560.00	1 \$	780.00 \$	780.00	2 \$	756.60 \$	1,513.20	1 \$	764.17 \$	764.17	Functional Capacity exam
2 FFD - MC Fitness for Duty Exam	45	\$ 95	.00 \$ 4	4,275.00	23	\$ 102.12 \$	2,348.76	45 \$	70.00 \$	3,150.00	23 \$	80.00 \$	1,840.00	45 \$	90.90 \$	4,090.50	23 \$	91.81 \$	2,111.63	Fit for duty exam
3 FLUVAX - MC Flu vaccine	2	\$ 25	.00 \$	50.00	1	\$ 26.87 \$	26.87	2 \$	28.00 \$	56.00	1 \$	30.00 \$	30.00	2 \$	32.09 \$	64.18	1 \$	32.41 \$	32.41	Influenza vaccine
4 HAIRCOLL - MC Drug screen by hair collection	2	s	s .		1	s - s	-	2 \$	25.00 \$	50.00	1 \$	26.00 \$	26.00	2 \$	63.05 \$	126.10	1 \$	63.68 \$	63.68	Hair sample collection for drug screen
5 HEPBAB - Hepatitis B Surface Antibody Test	1	\$ 25	.00 \$	25.00	1	\$ 26.87 \$	26.87	1 \$	32.00 \$	32.00	1 \$	34.00 \$	34.00	1 \$	29.10 \$	29.10	1 \$	29.39 \$	29.39	Hepatitis B titer
6 HEPBAB - MC Hepatitis B Surface Antibody Test	1	\$ 25	.00 \$	25.00	1	\$ 26.87 \$	26.87	1 \$	32.00 \$	32.00	1 \$	34.00 \$	34.00	1 \$	32.09 \$	32.09	1 \$	32.41 \$	32.41	Hepatitis B titer
7 HEPBSER - MC Hepatitis B Series	5	\$ 60	_	300.00	3	\$ 64.50 \$	193.50	5 \$	165.00 \$	825.00	3 \$	174.00 \$	522.00	5 \$	209.52 \$	1,047.60	3 \$	211.62 \$	634.86	Hepatitis B vaccine
8 LAB - MC Lab Work	5	\$ 20	.00 \$	100.00	3	\$ 21.50 \$	64.50	5 \$	192.00 \$	960.00	3 \$	192.00 \$	576.00	5 \$	178.48 \$	892.40	3 \$	180.26 \$	540.78	Labs(incl.CBC, Chem14, exposure titers, academy cl. Titers, surveillance)
9 LOAEVAL - MC Leave of Absence Evaluation	960			2.000.00	480		88.697.60	960 S		67.200.00	480 S		38.400.00	960 S	90.90 s	87.264.00	480 S	91.81 \$	44.068.80	FMLA review
	960				460			700 \$			400 \$			900 3			400 3			
D LYMETITR - MC Lyme Dis Antibody w/reflex Western Blot	1	\$ 20		20.00	1	\$ 21.50 \$	21.50	1 \$	75.00 \$	75.00	1 \$	77.00 \$	77.00	1 \$	85.55 \$	85.55	1 \$	86.41 \$	86.41	Lyme titer lab test
NUCSTRES - MC Nuclear Stress Test	1		.00 \$	400.00	1	\$ 430.00 \$	430.00	1 \$	437.00 \$	437.00	1 \$	437.00 \$	437.00	1 \$	582.00 \$	582.00	-	587.82 \$		Nuclear Stress test
PHYS - MC Resp Clearance - Med examiner office	6		.00 \$	72.00	3	\$ 12.90 \$	38.70	6 \$	60.00 \$	360.00	3 \$	64.00 \$	192.00	6 \$	222.13 \$	1,332.78	3 \$	224.35 \$	673.05	Respiratory clearance exam for Med. Examiners office
3 PPD - MC PPD	1		.00 \$	20.00	1	\$ 21.50 \$	21.50	1 \$	30.00 \$	30.00	1 \$	30.00 \$	30.00	1 \$	23.53 \$	23.53	1 \$	23.77 \$	23.77	TB skin test
4 PPE - MC PPE (no PPD or Psych)	401	\$ 55	.00 \$ 22	2,055.00	201	\$ 59.12 \$	1,883.12	401 \$	50.00 \$	20,050.00	201 \$	54.00 \$	10,854.00	401 \$	64.17 \$	25,732.17	201 \$	64.81 \$	13,026.81	Pre-employment phy. for positions not needing PPD/Psych
5 PPETBPSY - MC PPE with PPD and Psych Eval	15	\$ 70	.00 \$	1,050.00	8	\$ 75.25 \$	602.00	15 \$,670.00 \$	25,050.00	8 \$	1,674.00 \$	13,392.00	15 \$	78.00 \$	1,170.00	8 \$	78.78 \$	630.24	Pre-employment phy. for positions needing PPD/Psych eval
RFT - MC Respirator Fit Test	12	\$	\$	-	6	s - s	-	12 \$	35.00 \$	420.00	6 \$	35.00 \$	210.00	12 \$	43.65 \$	523.80	6 \$	44.09 \$	264.54	Respiratory Fit test for those using respirators-surveillance
RTW - MC Return To Work/Disability Exam	437	\$	\$	-	219	s - s	-	437 \$	70.00 \$	30,590.00	219 \$	80.00 \$	17,520.00	437 \$	90.90 \$	39,723.30	219 \$	91.81 \$	20,106.39	Return to Work exams/Disability exams
B RTW - MCBOSS Return To Work	1	\$	s	-	1	\$ - \$	-	1 \$	70.00 \$	70.00	1 \$	80.00 \$	80.00	1 \$	90.90 \$	90.90	1 \$	91.81 \$	91.81	Return to Work used for MCBOSS
9 RTWDS - MC WC Return to Work Drug Screen > 30 days	166	\$ 35	.00 \$ 5	5,810.00	83	\$ 37.62 \$	3,122.46	166 \$	40.00 \$	6,640.00	83 \$	42.00 \$	3,486.00	166 \$	42.78 \$	7,101.48	83 \$	43.20 \$	3,585.60	RTW drug screen only for use when specialist clears Work comp injury
0 WFP - <generic> WC Follow up Visit Paperless</generic>	18	\$ 110	.00 \$	1,980.00	9	\$ 118.25 \$	1,064.25	18 \$	150.00 \$	2,700.00	9 \$	150.00 \$	1,350.00	18 \$	138.71 \$	2,496.78	9 \$	140.10 \$	1,260.90	Worker Comp follow up exam
1 WFP - HAMTWP WC Follow up Visit Paperless	1	\$ 110	.00 \$	110.00	1	\$ 118.25 \$	118.25	1 \$	150.00 \$	150.00	1 \$	150.00 \$	150.00	1 \$	138.71 \$	138.71	1 \$	140.10 \$	140.10	Worker Comp follow up exam
2 WIP - WC Initial Visit Paperless	16	\$ 120	.00 \$	1,920.00	8	\$ 129.00 \$	1,032.00	16 \$	185.00 \$	2,960.00	8 \$	185.00 \$	1,480.00	16 \$	226.30 \$	3,620.80	8 \$	228.56 \$	1,828.48	Worker Comp Initial exam
3 Audiometric Testing	1	\$ 20	.00 \$	20.00	1	\$ 21.50 \$	21.50	1 5	20.00 \$	20.00	1 5	21.00 \$	21.00	1 8	21.39 \$	21.39	1 \$	21.60 \$	21.60	Audiometric Testing as per Part 16

	DOCTORS EXPRESS							PRINCETON HEALTHCARE SYSTEM PROPOSAL							ROBERT '	MOOD JOH	INSON PROPO	SAL		
PROCEDURES	YEAR ONE AND TWO ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TC	YEATHR DTAL ESTIM TES' HOU	MATED CO TEST	ST PER THOUR	TOTAL		COST PER EST/HOUR	TOTAL		COST PER EST/HOUR	TOTAL		COST PER TEST/HOUR	TOTAL		OST PER ST/HOUR	TOTAL	DEFINITION
Psychological Screening	1 \$	-	\$	-	1 \$	- \$	-	1 \$	1,590.00 \$	1,590.00	1 \$	1,590.00 \$	1,590.00	1 \$	- \$	-	1 \$	- \$	-	Psychological Screening as per Part 23
Psychological Screening (Sheriff's Officers, Correction Officers, Park Rangers)	1 \$	-	\$	-	1 \$	- \$	-	1 \$	1,590.00 \$	1,590.00	1 \$	1,590.00 \$	1,590.00	1 \$	- \$	-	1 \$	- \$	-	Psychological Screening (Sheriff's Officers, Correction Officers, Park Rangers) as per Part 24
Immunizations	56 \$	25.0	00 \$	1,400.00	28 \$	26.87 \$	752.36	56 \$	241.00 \$	13,496.00	28 S	241.00 \$	6,748.00	56 \$	77.60 \$	4,345.60	28 \$	78.38 \$	2,194.64	Immunizations (inc. Hepatitis A&B, tetanus)
X Rays	288 \$	60.0	00 \$	17,280.00	144 \$	64.50 \$	9,288.00	288 \$	63.00 \$	18,144.00	144 \$	67.00 \$	9,648.00	288 \$	72.75 \$	20,952.00	144 \$	73.48 \$	10,581.12	X Rays - all types
Stress test	1 \$	240.0	00 \$	240.00	1 \$	258.00 \$	258.00	1 \$	437.00 \$	437.00	1 \$	437.00 \$	437.00	1 \$	266.75 \$	266.75	1 \$	269.42 \$	269.42	Stress test - Pre-employment/academy clearance
Drug screens/BAT's	77 \$	65.0	00 \$	5,005.00	39 \$	69.87 \$	2,724.93	77 \$	75.00 \$	5,775.00	39 \$	77.00 \$	3,003.00	77 \$	80.21 \$	6,176.17	39 \$	81.01 \$	3,159.39	Drug screens and Breath alcohol testing
Labs	51 \$	20.0	00 \$	1,020.00	26 \$	21.50 \$	559.00	51 \$	192.00 \$	9,792.00	26 \$	192.00 \$	4,992.00	51 \$	178.48 \$	9,102.48	26 \$	180.26 \$	4,686.76	Labs(incl.CBC, Chem14, exposure titers, academy cl. Titers, surveillance)
Resp. Fit Tests	2 \$	-	\$	÷	1 \$	- \$	-	2 \$	35.00 \$	70.00	1 \$	35.00 \$	35.00	2 \$	40.74 \$	81.48	1 \$	41.15 \$	41.15	Respiratory Fit test for those using respirators-surveillance
Physicals	3 \$	55.0	00 \$	165.00	2 \$	59.12 \$	118.24	3 \$	50.00 \$	150.00	2 \$	54.00 \$	108.00	3 \$	64.17 \$	192.51	2 \$	64.81 \$	129.62	Physical exams - pre-employment
Return to Work exams	23 \$	-	\$	-	12 \$	- \$	-	23 \$	70.00 \$	1,610.00	12 \$	80.00 \$	960.00	23 \$	90.90 \$	2,090.70	12 \$	91.81 \$	1,101.72	Return to Work exams/Disability exams
Pulm. Function test	6 \$	25.0	00 \$	150.00	3 \$	26.87 \$	80.61	6 \$	60.00 \$	360.00	3 \$	60.00 \$	180.00	6 \$	63.05 \$	378.30	3 \$	63.68 \$	191.04	Pulm. Function test part of respiratory exam
FMLA reviews	16 \$	65.0	00 \$	1,040.00	8 \$	69.87 \$	558.96	16 \$	70.00 \$	1,120.00	8 \$	80.00 \$	640.00	16 \$	90.90 \$	1,454.40	8 \$	91.81 \$	734.48	FMLA review
EKG	4 \$	40.0	00 \$	160.00	2 \$	43.00 \$	86.00	4 \$	60.00 \$	240.00	2 \$	60.00 \$	120.00	4 S	33.95 \$	135.80	2 \$	34.29 \$	68.58	EKG - academy clearance/surveillance exam
Phlebotomy charge	3 \$	15.0	00 \$	45.00	2 \$	16.12 \$	32.24	3 \$	15.00 \$	45.00	2 \$	15.00 \$	30.00	3 \$	14.55 \$	43.65	2 \$	14.70 \$	29.40	Lab drawing fee
Fit for duty Exam	2 \$	95.0	00 \$	190.00	1 \$	102.12 \$	102.12	2 \$	65.00 \$	130.00	1 \$	69.00 \$	69.00	2 \$	90.90 \$	181.80	1 \$	91.81 \$	91.81	Fitness for Duty exam
Suture Removal kits	4 S	12.0	00 \$	48.00	2 \$	12.90 \$	25.80	4 \$	20.00 \$	80.00	2 \$	20.00 \$	40.00	4 \$	24.25 \$	97.00	2 \$	24.49 \$	48.98	Durable medical equipment
Part 3. OSHA Respirator Questionnaire	1 \$	12.0	00 \$	12.00	1 \$	12.90 \$	12.90	1 \$	15.00 \$	15.00	1 \$	15.00 \$	15.00	1 \$	16.04 \$	16.04	1 \$	16.20 \$	16.20	Refer to Part 3.
Part 6. Cast/Prothesis Evaluations	1 \$	60.0	00 \$	60.00	1 \$	64.50 \$	64.50	1 \$	60.00 \$	60.00	1 \$	60.00 \$	60.00	1 \$	64.17 \$	64.17	1 \$	64.81 \$	64.81	Refer to Part 6.
Part 7. Psuedocholinesterase	1 \$	50.0	00 \$	50.00	1 \$	53.75 \$	53.75	1 \$	55.00 \$	55.00	1 \$	55.00 \$	55.00	1 \$	18.93 \$	18.93	1 \$	19.12 \$	19.12	Refer to Part 7.
Part 8. Lyme Antibody Titer for screening	1 \$	20.0	00 \$	20.00	1 \$	21.50 \$	21.50	1 \$	75.00 \$	75.00	1 \$	77.00 \$	77.00	1 \$	85.55 \$	85.55	1 \$	86.41 \$	86.41	Refer to Part 8.
Part 10. Cost of Influenza (County Provided)	1 \$	10.0	00 \$	10.00	1 \$	10.75 \$	10.75	1 \$	15.00 \$	15.00	1 \$	15.00 \$	15.00	1 \$	16.54 \$	16.54	1 \$	16.71 \$	16.71	Refer to Part 10.
Part 14. Medical Report Review	1 \$	85.0	00 \$	85.00	1 \$	91.37 \$	91.37	1 \$	90.00 \$	90.00	1 \$	93.00 \$	93.00	1 \$	90.90 \$	90.90	1 \$	91.81 \$	91.81	Refer to Part 14.
Part 17. Refer to page 44. Hazmat Medical Surveillance	1 5	390.0	00 S	390.00	1 \$	419.25 \$	419.25	1 \$	385.00 \$	385.00	1 \$	408.00 \$	408.00	1 \$	433.11 \$	433.11	1 \$	437.44 \$	437.44	Refer to Part 17.
Part 18. Refer to page 45. Hazmat Medical Surveillance	1 5	490.0	_	490.00	1 5	526.75 \$	526.75	1 8	385.00 \$	385.00	1.5	408.00 \$	408.00	1 5	577.45 \$	577.45	1 5	583.22 \$		Refer to Part 18.
Part 19A. Medical Examination	1 5	140.0	_	140.00	1 5	150.50 \$	150.50	1 \$	130.00 \$	130.00	1 \$	138.00 \$	138.00	1 \$	160.39 \$	160.39	1 5	161.99 \$		Refer to Part 19A.
Part 19B. Chest X-Ray	1 \$	60.0	_	60.00	1 8	64.50 \$	64.50	1.8	63.00 \$	63.00	1 \$	67.00 \$	67.00	1 \$	80.21 \$	80.21	1 8	81.01 \$		Refer to Part 198.
Part 20. Medical Surveillance, Temephos	1 0	160.0	_	160.00	1 6	172.00 \$	172.00	1 0	200.00 \$	200.00	1 0	212.00 \$	212.00	1 0	262.00 \$	262.00	1 0	264.62 \$		Refer to Part 20.
	1 3		_		1 0			1 6			1 5			1 3			1 5			
Part 21. Medical Examination DOT	1 \$	60.0	_	60.00	1 5	64.50 \$	64.50	1 \$	64.00 \$	64.00	11 5	68.00 \$	68.00	1 \$	69.50 \$	69.50	1 \$	70.20 \$		Refer to Part 21.
Part 22. Police Academy Physical	1 \$	400.0	30 \$	400.00	1 5	430.00 \$	430.00	1 \$	399.00 \$	399.00	1 \$	423.00 \$	423.00	1 \$	170.00 \$	170.00	1 \$	171.70 \$	171.70	Refer to Part 22.
Part 23. Refer to page 49. Psychological Screening	1 \$	-	\$	-	1 \$	- \$	-	1 \$	1,590.00 \$	1,590.00	1 \$	1,590.00 \$	1,590.00	1 \$	- \$	-	1 \$	- \$	-	Refer to Part 23.
Part 24. Refer to page 50. Psychological Screening	1 \$	-	\$	-	1 \$	- \$	-	1 \$	1,590.00 \$	1,590.00	1 \$	1,590.00 \$	1,590.00	1 \$	- \$	-	1 \$	- \$	-	Refer to Part 24.
Part 25. Refer to page 50. Psychological Fitness for Duty	1 \$	-	\$	-	1 \$	- \$	-	1 \$	1,590.00 \$	1,590.00	1 \$	1,590.00 \$	1,590.00	1 \$	- \$	-	1 \$	- \$	-	Refer to Part 25.
Consulting Rate Per Hour (INCLUDES SERVICES AS MEDICAL DIRECTOR FOR PUBLIC HEALTH AND BIOTERRORISM PREPAREDNESS/LINCS AS REQUIRED)	400 \$	175.0	00 \$	70,000.00	200 \$	180.00 \$	36,000.00	400 \$	175.00 \$	70,000.00	200 \$	180.00 \$	36,000.00	400 \$	175.00 \$	70,000.00	200 \$	180.00 \$	36,000.00	Consultation rate per hour
GRAND TOTAL FOR TWO YEARS			5 2	70,367.00		e	199,815.53		e	516,618.00		e	277,019.00			520,330.91		e	266,484.34	

	BID RESULTS				
AB2013-48 IMPROVEMENTS AT THE	INTERSECTION OF QUAKERBRIDGE ROAD AND	YOUNGS ROAD WITHIN THE TOWNSHIP OF I	HAMILTON		
	BID OPENING DATE: OCTOBER 3,	2013			
WORK WILL COMMENCE WITHIN 10 DAYS AFTER NTP AND COMPLETION 45 DAYS FROM NTP, BONDS REQUIRED INCLUDING MAINTENANCE BOND UPON ACCEPTANCE 5% TWO YEARS					
NUMBER OF RESPONDENTS	3				
NAME OF BIDDER	EARLE ASPHALT COMPANY	TOP LINE CONSTRUCTION CORP.	MECO, INC.		
ADDRESS	1800 ROUTE 34, BLDG # 2, SUITE 205; P.O. BOX 556 (07727)	22 FIFTH STREET	P.O. BOX 536		
CITY, STATE, ZIP	FARMINGDALE, NJ 07719	SOMERVILLE, NJ 08876	CLARKSBURG, NJ 08510		
CONTACT	WALTER R. EARLE II	STEVE CASTELA	ARLINDO LUCAS		
TELEPHONE	732 308 1113	908 231 7570	609 443 4344		
FAX	732 308 1034	908 231 7402	609 443 9304		
E-MAIL	BCOOPER@EARLECO.COM	SCASTELA@TOPLINECONSTRUCTION.COM	ALFREDOJR@MECOPAVING.COM		
BID DEPOSIT AND CONSENT OF SURETY	FEDERAL INSURANCE COMPANY 10% NTE 20K; STACY RIVERA AIF WITH POA	GREAT AMERICAN INSURANCE COMPANY 10% NTE 20K; DONALD GOETZ AIF WITH POA	HUDSON INSURANCE COMPANY 10& NTE 20K; BRUCE M. ALLEN AIF WITH POA		
INSURANCE CERT	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED		
STOCKHOLDER DISCLOSURE	OK	OK	OK		
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK		
DEBARRED	NO	NO	NO		
PUBLIC WORKS CONTRACTOR REGISTRATION	18315 EXPIRES 5/5/14	614639 EXPIRES 5/12/14	60144 EXPIRES 6/8/14		
EQUIPMENT CERTIFICATION	OK	OK	OK		
SHALL POSSES ONE : NJ DOT PREQUALIFICATION FOR CLASS CODE 2, 2B, 3, 3A, OR 5;	YES, 5 COVERS 17, 18 AND 22 AS PER KAUSHIK DESAI	YES, 3A PER LINDA AT DOT	YES, 3A		
ЕХНІВІТ В	INCLUDED	INCLUDED	INCLUDED		
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED		
SIGNED PROPOSAL PAGE	ОК	ОК	OK		
THREE REFERENCES AND 5 YEARS EXPERIENCE	INCLUDED, ENGINEERING TO CHECK	INCLUDED	INCLUDED		
SAFETY CERTIFICATION	OK	OK	OK		
HOLD BEYOND 60 DAYS	YES - REFER TO EXCEPTION	YES	YES		
BID TOTAL AMOUNT	338,713.13	377,762.20	391,515.41		
EXCEPTIONS	YES, IF CONTRACT IS NOT AWARDED WITHIN 90 DAYS, AUTHORIZATION IS NEEDED FROM CONTRACTOR TO EXTEND BID PROPOSAL	NONE	NONE		
FATAL FLAW	NO	NO	NO		



PROPOSAL FOR AB2013-48

IMPROVEMENTS AT THE INTERSECTION OF QUAKERBRIDGE ROAD AND YOUNGS ROAD; WITHIN THE TOWNSHIP OF HAMILTON

				EAR	LE ASPHALT	T	OP LINE	MECO		
ITEM NO.	CONSTRUCTION ITEM DESCRIPTIONS	UNIT	QUANTITY	UNIT COST	SUB-TOTAL COST	UNIT COST	SUB-TOTAL COST	UNIT COST	SUB-TOTAL COST	
1	EXCAVATION, UNCLASSIFIED	CY	606	\$42.84	\$25,961.04	\$40.94	\$24,809.64	\$50.00	\$30,300.00	
2	HMA MILLING - 3" OR LESS	SY	7790	\$3.78	\$29,446.20	\$3.66	\$28,511.40	\$7.50	\$58,425.00	
3	INTENTIONALLY BLANK									
4	HOT MIX ASPHALT 9.5M64 SURFACE COURSE (2" THICK)	TON	1024	\$115.27	\$118,036.48	\$83.79	\$85,800.96	\$120.00	\$122,880.00	
5	HOT MIX ASPHALT 19M64 BASE COURSE (8" THICK)	TON	334	\$108.90	\$36,372.60	\$192.95	\$64,445.30	\$125.00	\$41,750.00	
6	DENSE GRADED AGGREGATE	CY	155	\$146.24	\$22,667.20	\$258.72	\$40,101.60	\$50.00	\$7,750.00	
7	9" X 18" CONCRETE VERTICAL CURB	LF	995	\$24.98	\$24,855.10	\$34.92	\$34,745.40	\$25.00	\$24,875.00	
8	INLET CONVERTED TO MANHOLE	UNIT	2	\$2,137.11	\$4,274.22	\$1,662.81	\$3,325.62	\$1,450.00	\$2,900.00	
8A	INLET TYPE 'B'	UNIT	2	\$3,160.50	\$6,321.00	\$4,230.42	\$8,460.84	\$10,000.00	\$20,000.00	
8B	16 INCH DUCTILE IRON PIPE CLASS 250	LF	13	\$446.18	\$5,800.34	\$518.00	\$6,734.00	\$265.00	\$3,445.00	
9	CONCRETE SIDEWALK (4" THICK)	SY	304	\$82.80	\$25,171.20	\$106.34	\$32,327.36	\$72.00	\$21,888.00	
10	TOPSOILING (4" THICK)	SY	235	\$35.00	\$8,225.00	\$10.46	\$2,458.10	\$7.00	\$1,645.00	
11	FERTILIZING AND SEEDING, TYPE A-3	SY	235	\$4.99	\$1,172.65	\$0.24	\$56.40	\$1.45	\$340.75	
12	STRAW MULCHING	SY	235	\$0.34	\$79.90	\$0.24	\$56.40	\$0.78	\$183.30	
13	RELOCATE SIGN	UNIT	3	\$67.50	\$202.50	\$131.25	\$393.75	\$275.00	\$825.00	
14	RELOCATE FIRE HYDRANT	UNIT	1	\$7,808.87	\$7,808.87	\$7,559.92	\$7,559.92	\$10,000.00	\$10,000.00	
15	INTENTIONALLY BLANK									
16	INTENTIONALLY BLANK									
17	DETECTABLE WARNING SURFACE	SY	8	\$200.48	\$1,603.84	\$146.39	\$1,171.12	\$160.00	\$1,280.00	
18	REMOVAL OF TRAFFIC STRIPES (8" WIDE THERMOPLASTIC)	LF	815	\$1.62	\$1,320.30	\$0.94	\$766.10	\$0.72	\$586.80	
18B	REMOVAL OF TRAFFIC STRIPES (4" WIDE EPOXY)	LF	2310	\$0.59	\$1,362.90	\$0.63	\$1,455.30	\$0.72	\$1,663.20	
19	REMOVAL OF TRAFFIC MARKINGS (THERMOPLASTIC)	SF	670	\$2.70	\$1,809.00	\$2.10	\$1,407.00	\$2.40	\$1,608.00	
20	Traffic Stripes, Long Life, Epoxy Resin – 4" Wide	LF	3629	\$0.74	\$2,685.46	\$0.63	\$2,286.27	\$0.72	\$2,612.88	
21A	TEMPORARY TRAFFIC STRIPES, (4" WIDE PAINT)	LF	2700	\$0.35	\$945.00	\$0.31	\$837.00	\$0.36	\$972.00	
21B	TEMPORARY TRAFFIC MARKINGS, (PAINT)	SF	860	\$1.96	\$1,685.60	\$1.84	\$1,582.40	\$2.10	\$1,806.00	
22	TRAFFIC MARKINGS – THERMOPLASTIC	SF	1772	\$3.71	\$6,574.12	\$3.15	\$5,581.80	\$3.59	\$6,361.48	
23	CONSTRUCTION SIGNS 48" X 24"	SF	96	\$0.01	\$0.96	\$12.55	\$1,204.80	\$20.00	\$1,920.00	
24	CONSTRUCTION SIGNS 48" X 48"	SF	272	\$0.01	\$2.72	\$12.55	\$3,413.60	\$20.00	\$5,440.00	
25	BREAKAWAY BARRICADE	UNIT	12	\$0.01	\$0.12	\$0.01	\$0.12	\$115.00	\$1,380.00	
26	DRUM	UNIT	37	\$0.01	\$0.37	\$190.00	\$7,030.00	\$78.00	\$2,886.00	
27	TRAFFIC CONE	UNIT	44	\$0.01	\$0.44	\$160.00	\$7,040.00	\$18.00	\$792.00	
28	TRAFFIC CONTROL TRUCK WITH MOUNTED CRASH CUSHION (WITH ARROW BOARD)	UNIT	1	\$4,328.00	\$4,328.00	\$4,200.00	\$4,200.00	\$15,000.00	\$15,000.00	
	GRAND TOTAL COST				\$338,713.13		\$377,762.20		\$391,515.41	

BID RESULTS

AB2013-40 WATER STORAGE TANK PAINTING FOR TWO 100,000 GALLON WATER TANKS (ONE POTABLE TANK AND ONE FIRE SUPPRESSION TANK) FOR THE MERCER COUNTY CORRECTION CENTER

BID OPENING DATE: OCTOBER 4, 2013 WORK WILL COMMENCE WITHIN 10 DAYS AFTER NTP AND COMPLETION LAUREN, WE NEED TO REQUEST A 120 DAYS FROM NTP, LD \$200.00 PER CD: PERFORMANCE AND LABOR MAINTENANCE BOND UPON ACCEPTANCE AND MATERIAL PAYMENT BONDS REQUIRED; MAINTENANCE BOND IN FROM KARL, WE ACCEPT PROJECT THROUGH THE AMOUNT OF 100% ONE (1) YEAR UPON ACCEPBANCE OF PROJECT: RESOLUTION SUBCONTRACTING IS NOT PERMITTED NUMBER OF RESPONDENTS 3 CORROSION CONTROL CORP. PRO-SPEC PAINTING **BRAGATON CONSTRUCTION** NAME OF BIDDER **ADDRESS** 177 US ROUTE 130 1819 CEDAR AVENUE 1700 KLENN AVENUE PEDDRICKTOWN, NJ 08067 CITY, STATE, ZIP VINELAND, NJ 08360 LINDEN, NJ 07036 **ODILON BRAGATTO** CONTACT RICHARD WARD RONALD W. YARBROUGH TELEPHONE 856 299 4200 856 690 9500 X 15 973 296 1997 FAX 856 299 5286 856 690 9525 908 925 1206 RICK@TANKCARE.COM BIDDOCS@PRO-SPEC.COM BRAGATON1@HOTMAIL.COM E-MAIL LIBERTY MUTUAL INSURANCE COMPANY 10% ALLEGHENY CASUALTY COMPANY 10% NTE LEXON INSURANCE COMPANY 10% NTE 20K; BID DEPOSIT AND CONSENT OF SURETY NTE 20K; DIANE M. DIMARTINO AIF WITH POA 20K; GREGORY J. RISNYCHOK AIF WITH DAWN JONES AIF WITH POA REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED INSURANCE CERT STOCKHOLDER DISCLOSURE OK OK OK NEW JERSEY BUSINESS REGISTRATION OK OK OK DFBARRED NO NO NO PUBLIC WORKS CONTRACTOR REGISTRATION 632148 EXPIRES 9/22/15 600412 EXPIRES 10/11/14 658850 EXPIRES 7/30/15 **EQUIPMENT CERTIFICATION** OK OK OK **EXHIBIT B INCLUDED INCLUDED** AA REQUIRED IF AWARDED AA201 REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED **REQUIRED IF AWARDED** THREE REFERENCES AND 5 YEARS EXPERIENCE INCLUDED K. THOMAS TO CHECK **INCLUDED INCLUDED** SAFETY CERTIFICATION OK OK OK HOLD BEYOND 60 DAYS YES YES YES TOTAL BID AMOUNT 31,950.00 49,250.00 62,000.00 **EXCEPTIONS** NONE INCLUDED NONE NONE FATAL FLAW NO NO NO

BID RESULTS

AB2013-40 WATER STORAGE TANK PAINTING FOR TWO 100,000 GALLON WATER TANKS (ONE POTABLE TANK AND ONE FIRE SUPPRESSION TANK) FOR THE MERCER COUNTY CORRECTION CENTER

BID OPENING DATE: OCTOBER 4, 2013 WORK WILL COMMENCE WITHIN 10 DAYS AFTER NTP AND COMPLETION LAUREN, WE NEED TO REQUEST A 120 DAYS FROM NTP, LD \$200.00 PER CD: PERFORMANCE AND LABOR MAINTENANCE BOND UPON ACCEPTANCE AND MATERIAL PAYMENT BONDS REQUIRED; MAINTENANCE BOND IN FROM KARL, WE ACCEPT PROJECT THROUGH THE AMOUNT OF 100% ONE (1) YEAR UPON ACCEPBANCE OF PROJECT: RESOLUTION SUBCONTRACTING IS NOT PERMITTED NUMBER OF RESPONDENTS 3 CORROSION CONTROL CORP. PRO-SPEC PAINTING **BRAGATON CONSTRUCTION** NAME OF BIDDER **ADDRESS** 177 US ROUTE 130 1819 CEDAR AVENUE 1700 KLENN AVENUE PEDDRICKTOWN, NJ 08067 CITY, STATE, ZIP VINELAND, NJ 08360 LINDEN, NJ 07036 **ODILON BRAGATTO** CONTACT RICHARD WARD RONALD W. YARBROUGH TELEPHONE 856 299 4200 856 690 9500 X 15 973 296 1997 FAX 856 299 5286 856 690 9525 908 925 1206 RICK@TANKCARE.COM BIDDOCS@PRO-SPEC.COM BRAGATON1@HOTMAIL.COM E-MAIL LIBERTY MUTUAL INSURANCE COMPANY 10% ALLEGHENY CASUALTY COMPANY 10% NTE LEXON INSURANCE COMPANY 10% NTE 20K; BID DEPOSIT AND CONSENT OF SURETY NTE 20K; DIANE M. DIMARTINO AIF WITH POA 20K; GREGORY J. RISNYCHOK AIF WITH DAWN JONES AIF WITH POA REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED INSURANCE CERT STOCKHOLDER DISCLOSURE OK OK OK NEW JERSEY BUSINESS REGISTRATION OK OK OK DFBARRED NO NO NO PUBLIC WORKS CONTRACTOR REGISTRATION 632148 EXPIRES 9/22/15 600412 EXPIRES 10/11/14 658850 EXPIRES 7/30/15 **EQUIPMENT CERTIFICATION** OK OK OK **EXHIBIT B INCLUDED INCLUDED** AA REQUIRED IF AWARDED AA201 REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED **REQUIRED IF AWARDED** THREE REFERENCES AND 5 YEARS EXPERIENCE INCLUDED K. THOMAS TO CHECK **INCLUDED INCLUDED** SAFETY CERTIFICATION OK OK OK HOLD BEYOND 60 DAYS YES YES YES TOTAL BID AMOUNT 31,950.00 49,250.00 62,000.00 **EXCEPTIONS** NONE INCLUDED NONE NONE FATAL FLAW NO NO NO